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Q.1 .
(a) Differentiate following w.r.t. x: 09
I y=7x%—2x*+3x%+ 6x — 9
2. y=e*logx
3. y=2t3+t+5, x=4t+3
() Find the maximum and minimum value of the function: f(x) = 2x° —6x ' 06
OR
Q.1
(a) Write rules for finding derivative. ‘ ' ' . 05
() Find the maximum or minimum value of the function: f(x) = 3x* +5x-3 05
(c) 2 : ' : &5
Find 42 - logx
dx x
Q.2 '
(a) Evaluate: : 05
Px.C _ .
(1) nisnss ) 2, =990 , Find n.

(b) In how many ways four cards of (1) different suits (11) same suit can be selected from 52 05
playing cards?

(¢) How many different words can be formed using the foi]owmg words without 05
repetition?
(1) BASETBALL (2) ECONOMICS

Q2 | ~ OR

(@) Findn: P, =6-,C, ' 05
.(b) Inhow many ways can 5 boys and 3 girls stand in a row so that no two girls are together? 05

(¢) In a group of students there are 4 girls and 6.boys. In how many ways a committee of 5 05
members can be formed such that there are at least 3 girls?

Q3 .
(a) Show that the equation of a line having slope m and Y- intercept ¢ is y = mx + c. 05

(b) Ifthe distance between (a, —4) and (—8,2) is 10, then find a. 05
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Q.4
(a)

(b)

Q4
(a)

(b)

Find the equation of a Jine whose slope is —3 and WhICh passes through the intersection of

the lines x-4y + 18 = 0 and X+y-— 12 = 0.

Show that the equation of the line passing through (x,,»,) with slope m is y~y; = m(x-x,)

Find the equation of a ling having X — intercept is —~2 and Y — intercept is 5.

Find the area of {riangle having the vertices as follows:

P(-2,-2),Q(0,4) and R(5,1).

OR

Solve the following LPP by Graphical method

Solve the followmg minimal a331gnment problem:

Worker

What is Linear Programming Problem? Write its uses,

Solve the following minimal assignment preblem:

\Worker

Maximize Z = 3x + 5y
Subject to3x + 2y <18
x<4
y<6
& x=20y=20
Job
R I 11 or-| v
A | 33 28 | 39 | 55
B |45 30 ! 51 43
C | 37.] 40 | 36 | 52
D29 33 | 48| 43
OR
0 Jobo S 3
_ |1\ pav]
A ] 41 391 50| 66
B | 56 41 62 | 57
C | 48 51 47 | 60
D} 40 | 44 59 | 54
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2, y=e*logx

3. y=2t34+t+5 x=4t+3
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